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QUESTION 1

You are designing a bank application in which automated email reminders are sent to customers every 24 hours,
starting from five days prior to a payment due date until the payment is made? Which type of beans most closely match
the implementation needs for this requirement? 

A. Stateful session bean 

B. Stateless session bean 

C. Managed bean 

D. Message-driven bean 

Correct Answer: D 

 

QUESTION 2

YourDocs is an application that retrieves PDF documents of selected topics from both trusted and untrusted websites. It
has been developed using a non-Java technology. You are designing your Mlearn, a mobile-based e-learning
application, which will be implemented in Java. You plan to integrate YourDocs with your application. 

Which web service technology would you choose to Integrate YourDocs into the YourMLearn application? 

A. JAX-WS 

B. JAX-WS with REST 

C. JAX-RPC 

D. JAX-RS 

Correct Answer: D 

100% Real QandAs | 100% Real Pass 

 

QUESTION 3

While analyzing an application, you observe that it contains numerous Interfaces for complex domain logic. Completing
a business Function currently requires calling several of these interfaces in an order that is understood by system
experts. 

Which design pattern would you suggest to refactor the code? 

A. MVC 

B. DAO 

C. Adapter 

D. Decorator 
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Correct Answer: A 

 

QUESTION 4

A Hot Potato anti pattern can arise from misuse of which technology combination? 

A. Bean Validation with JSF Managed Beans 

B. Messaging in the Business Tier 

C. JNDI Lookups with Global Java Naming 

D. JPA with the Web Tier 

Correct Answer: B 

 

QUESTION 5

Which two statements apply to unsigned applets? 

A. They can access the client file system. 

B. They can connect to third-party servers. 

C. They can connect to the originating host. 

D. They can invoke public methods of applets on a page. 

E. They can load native libraries. 

Correct Answer: CD 
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